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GENERAL INSTRUCTIONS

. This papcr consists of 100multiple choicequcstionsand carries a total of 100 marks, onc
mark for eachquestion.

. Answersto all questionsshould bemarked only on the OMR sheetprovided.

. For eachquestion,darken {(fill) the appropriate bubbleon the OMR sheet to indicate your
answer.

. Useonly HB pencils to darken the bubbles.

. Darken onlty onebubbleper question. Ifyou mark more than onebubbleto answer a
question,it will beevaluated as incorrect.

. If you wish to changeyour answer, please erasethe existing mark completely before
filling in the otherbubble.

. There is no negativemarking for wrong answcrs.

. Candidatesare rcquired to fill in the rcquired fields on the answersheet attached.
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BIOLOGICAL SCIENCES

1. A nick in a DNA molecule canbedetectedby which of the following methods?

(A) NestedPCR
{B)} Primer extcnsion
(C) RI-PCR

(D) Karyotyping

2. Thestructure of a double-stranded DNA in a palindromic sequencés

(A) G-quartets

(B) Triplex DNA
(© Hairpin DNA
(D) Cruciform DNA

3. The enzyme responsible for indefinite growth of human cancer cells is

(A) Telomerase

(B) DNA polymerasel
(© RNApolymerase
(D) Reverse transcriptase

4. Spontaneousleaminationin a DNA storedat -20°Cwill lead to conversionof cytosine into

(A) Thymine

(B) Guanine
(C) Adenine
(D) Uracil

Lh

Which of the following doesNOT apply to triplex DNA

(A) Itis triple-stranded DNA

(B) Requiresonly Hoogsteen hydrogenbonding
(C) RequiresWatson-Crick hydrogen bonding

(D) Forms at neutral or acidic pH

6. The replicative polymerasein E. cd i is
(A) - DNA polyrnerasel
(B) DNA polymerasell

(C) DNA polyrnerasdil
(D) DNA primase
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7. A DNA chip contains a complete setof random hexanucleotidg6-mers) probes. Out of the
4% = 4096probes,how many will form perfect complementary duplcxeswith sequences
within the 14 nucleotidesingle-stranded target DNA, 5 -GAACTGCATTGATA-3*?

(A) 20
(B) 9
(C) 6
(D) 3

8. A majordeviation from Mendel s laws occursbecausef

(A) Linkage

(B) Mutation

(C) Reversion

(D) Complementation

9. A mixture of 50-mer oligonucleotide and freenucleotidesvasloaded onro a SephadexG-50
gel filtration column, which of the following results canbe expected?

(A) The oligonucleotideand the nucleotidcavould beretained in thecolumnand they both
can bind the resin

(B) The oligonucleotidewould elute first
(C) Nucleotide would elute first

(D) Both co-elute on this column

10. Mcthylationof glutamateresiduesis typically associatedwith

(A) Chemotaxis in bacteria

(B) Nuclear translocation in eukaryotes
(C) Restriction in bacteria

(D) Inter-cellnlar transport in plants

11. Solute movementthrough which channel is mainly responsible for the restingvoltage?

(A) Porin

(B) Gapjunction
(C) Glucose
(D) Potassium
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12,

13.

14.

15.

16.

17.

Ribonucleashas four disulfide bondswhich werereducedby Dithiothreitol in presenceof
8M urca. Thesereagentsvere removed by dialysis so that the protein could refold and the
disulfide bondsreformed. If the reformation Of S-S bondsoccurred randemly, the expected
recovery Of the biological activity would be

(A) 100%
(B) 80%
(©) 095%
(D) 95%

Myoglobinhas153 amino acidresidues. If it was a continuousa-helix, the length of
myoglobinwould be

(A) 36 nm
(B) 53 nm
© 55nmm
(D) 23 m

TheV pax of an enzyme was90 gmoles/min/mg of protein. If the molecularmass of the
enzyme is 20,000Da, the turnover number (min ') of thc enzyme is

(A) 180
B) 1800
(C) 90
(D) 18

Which of the following are mod likely to be unstable?

(A) Holocentric chromosomesn C. elegans
(B) Metacentric chromosomesn humans

(C) Dicentric chromosomesn yeast
(D) Monocentric chromosomesn mice

The peptide bond is not

(A) apolar

(B) a partial double bond
(C) planar

(D) trans n proteins

TheBohref{fect in hemoglobin refersto the

(A) reducedaffinity for O, at lower pH

(B) higherpH in activelymetabolizing tissues
(C) increasedaffinity for O, at lower pH

(D) low pH in actively metabolizing tissues
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18. IgG

(A) is found primarily in mucosal secretions

(B) is oneof the lesscommonimmunoglobulintypes

(C) hasthe highestmolecular weight of all immunoglobulins
(D) containscarbohydrate covalentlyattached to the hcavychain

19. Which of the following genes is defeciivcin patientssuffering from severc combined
immunodeficiencysyndrome?

(A) cystic fibrosis transmembrane conductor regulator (CFTR)
(B) adenosine deaminase

(C) ribonucleotide reductase

(D) alpha 2 microglobulin

20. For which of the following diseasesa recombinantvaccineis available

(A) Hepatitis A
(B) Hepatitis C
(O Hepatitis B
(D) Hepatitis E

21. Which of the following molecules is a poor immunogenin children?

(A) Bacterial polysaccharides
(B) Cholera toxoid

(C) Killed rabies virus

(D) Live attenuated polio virus

22. Which of thc following proteins is NOT required for the growth Of Saccharomyces
cerevisiae cells in a medium containing glucoseas the solecarbon source?

(A) Phosphoglyccratekinase
(B) GAPDH

(C) Hexokinase

(D) CytochromeC

. 23. Incubation of GTP with a protein resultedin the formation of GDPand P;. Theprotein is
likely to be:

(A) Ras
(B) Myc
© Fos
(D) Myb
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24. FQOS, JUN and MYC are:

(A) proteinsexpressed on the surfaceof cancerous cells

(B) protein kinasesthat phosphorylate transcription factors regulating expressiorof
cancergenes

(C) proteins involved in regulation of expressiorof genesnvolved in growth promotion

(D) proteinsinvolvedin recombination and DNA repair

25.  Which oneof the following Staiementss correct?

(A) Helper T cells expresssurfaceCD8 marker

(B) Cytotoxic T cellsexpresssurface CD4marker

(© HelperT cellsexpresssurfaceimmunoglobulin IgG
(D) Cytotoxic T cellsexpress surface CD8 marker

26. If secretory IgA protein subjected to SDS PAGEunder reducing cond itions, the number of
bandsonecan visualize after staining &

(A) 1
(B) 2
€ 3
D) 4

27. ATHI subsetof T cellstypically secretes

A J5
(B) IL-13
(C) IL-4
(D) IFN-y

28. Which of the following are examplesof primary lyrmphoid organs

(A) Spleen and Iymph node

(B) Lymph nodeand Peyer'spatches
(C) Bonemarrow and thymus
(D) Tonsils and liver

29. Phagocytes kill bacteria usingall of the following EXCEPT
(A) Hydrogen peroxide
{B) Hydrolytic enzymes

(C) LowpH
(D) Sirongreducing agents
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30.

31.

32.

33.

34.

Which one of the following sequences in proteins corresponds to N-glycosylation site?(X
indicatesany amino acid residue)

(A) Asn-Ser/Thr

B) Asn-X-Ser/Thr
(C) Asn-X-X-Ser/Thr
(D) Ser/Thr-Asn

Whichof the following secondary metaboliteds NOT an anti-cancerdrug?

(A) Paclitaxel

(B) Podophyllotoxin
(C) Atropine

(D) Vincristine

C3 and C4 plants differ in their photosynthesis, how?

(A) C4plantscanseparate CO, fixation and Calvin cycle temporally or spatially

(B) C4 plants can perform the light dependentreactionsat night

(C) C4plants require less energy for their carbonacquisilion and are, therefore, morc
efficient

(D) C3 plants perform the light indepcndentreactions in ihe vascular bundles

If the average molecularweight of one amino acid is 110 Daltons, the molecularweight of
a peptide madeup of 10 amino acids is expectedto be

(A) 1100
(B) 938
(C) 876
(D) 744

A bacterium has1000 genesAmong the two daughiers following replication, there isa
probability of 11100that a genein either of the daughtershas mutated.If a culture of one
million cells js raised from onebacterium, the probability that the culture is atrue clone
(i.e., contains No mutants) is

(A) about99 in 100
(B) aboutl in 100
(©) aboutl in 10000
(D) <1X10°
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35. Maich the following and choosehe correct combinarion:

i. Rho and Rac proteins a. Serine/thrconine kinase

. Raf b. Tumour suppressorgene

iii. Rb c. GTP-binding proteins

iv. MAPKs d. Apoptotic iactor

v. Bad e. Regulate the activity of
transcription factors

(A} i-c,ii-a, iii-b, iv-e,v-d
(B) i-b,ii-a, iii-e,iv-c, v-d
(C) i-c, ii-d, ii-b, iv-e, v-a
(D) i-c,ii-b, iii-a,iv-c, v-d

36. Which of the following is common to the synthesis of all steroid honnones?

(A) Conversion of testosterone to estradiol
(B) Cholestcrolsidechain cleavage

(© Isomerization

(D) Dehydrogenation

37. Myasthenia Gravis in humans is characterized by increased muscular weakness because
of diminishing effectsof acetylcholine at neuromuscularjunction due to

(A) Decrcascdreleasenf acetylcholine at the neuromuscuiar junction

(B) Increasedactivation of acetylcholinereceptor

C) Production of antibodies against acetylcholine reccptor

(D) Increasedreleaseof inhibitory neurotransmitters at the neuromuscular junction

38. The posterior pituitary Soes  and secretes

(A) ADH and FSH

(B) GH and Prolaciin
(© ACTH and ADH
(D) ADH and Oxytocin

39. If "*C-glycine is used for biosynthetic labeling, which oneof the following molecules can
be labeledin bacterial cells?

(A) Purines and pyrimidines
(B) Purines and proteins
(C) Proteinsand lipids

(D) Pyrimidines and proteins
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40.

41.

42.

43.

44,

45.

Which oneof the following reagents inhibits mammalian cell cycle at Mphase?

(A) Colcemid
(B) Adriamycin
(C) Mimosine
(D) Hydroxyurea

In which one of thc following metabolic reactionsis GTPutilized?

(A) DNAreplication

(B) Fatly acid biosynthesis
(C) Protein synthesis

(D) ATP synthesis

Rous Sarcoma virus uses the following enzyme for its replication:

(A) DNA dependentDNA Polymerase
(B) RNA dependentRNA Polymerase
(C} DNA dependentRNA Polymerase
(D) RNA dependentDNA Polymerase

The protection against Small Poxafforded by prior infection with Cow P0X represents

(A) AntigenicSpecificity

(B) Antigenic Crossreadivity
(C) Viral Super-infection

(D) Inate Immunity

The antigenic peptidescan bind to the T cell receptor when the peptidesare only

(A) In the free form

(B) whenbound by antibody

(© whencomplexed to hapten

(D)} whenloaded onto MHC molecules

Which of the following enzymes can be used to radiolabel DNA aswell as RNA?
(A) Klenow fragment of DNA polymerase I
(B) Polynucleotide kinase

(C) Reverse transcriptase
(D) Tag polymerase

10
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46. Which of the foltowing antibioticsresembles the 3' endof a chargedtRNA molecule?

47.

48.

49.

50.

(A} Puromycin
(B) Sireptontycin
(C) Tetracycline
(D) Kananiycin

When heaied, the Ajsp Of DNA sample A increasedincarly with temperature, whereas that

of DNA sample B increaseso-operatively. Which oneof the following is correct?

(A) BothA & B are singlestranded
(B) A is doublestrandedand B is single stranded

(C) Both A & B are doublestranded
(D) A is single slrandedand B is double stranded

Which of the following gascsad assignaling moleculcsin eukaryoles?

(A) Ethyleneand Nitrous oxide
(B) Ethylene andNitric oxide
(C) Carbon dioxide and elhylene
(D) Nitric oxide and oxygen

You dissolveone moleof sodiumacetatein 1 L of pure water. Theconcentrationof
sodiumacetale in this solution is

(A) 1.0M
(B) 10.0M
(C) <i.0M
(D) 1.1M

The secondary structure of a protein can be dctermined by

(A) NMR spectroscopyX-ray crystallography and CD speciroscopy

(3) NMR spectroscopyX-ray crystallography and Fluorescencepectroscopy

(C) X-ray crystallography, W-visible speciroscopy and Fluorescence Spectroscopy
(D) CD spectroscopyMass spectroscopyand Fluorescencenisotropy
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51

52,

53.

54.

55.

Match the following and choosehe correct combination:

@ Protein structure (1) Northem blot

(b) DNA transfer (2) Frederick Sanger
(¢) DNA sequencing (3) Ramachandranplot
(d) RNA transfer (4) SoutherrBlot

(A) a2 b-4;c-3;d-1
(B) a-3; b-1;c-2; d-4
© a3;b4c2 d-1
(D) a2;b-1;c-3;d-4

500 ml of aqueoussolutionat pH 2 is mixed with 500ml of aqueoussolutionat pH 7.
Neither solution is buffered; the resulting pH is closesto

(A) 5
®B) 2
) 7
(D) 9

Tre dimensionof a subcellularbody is 1.5A. Its dimensionin metersis

(A) 15x10°
® 15xi0”
(C) 1.5x 107
D) 15 x107"

The approximate total number of red blood cells(RBC) in a human body is 25x10'2,
About 2x10'! RBCs are pmducedperday. Thereforethe RBC on an average survivesfor

(A) 125days
{(B) 2.5days
(C) 125 days
{D) 200 days

The molecular weight of IgG is 150kDa. If the mass ratio of antibody:antigen in anIgG-
antigen complexis 1:1, the molecular weight of the antigen is

(A) 75kDa
(B) 150 kDa
(C) 25kDa
(D} 300 kDa

12
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56.

o7,

58.

59.-

60.

Amino acid composition analysisevealed that a peptidehas2 Ala, 21ys and [ Phe.
Further, a) Ala is observedittheN-terminus beforeand after digestion with chymotrypsin

andb) a [ree Lys is reteased after digestionwith trypsin, Ideniify thesequencef the
peptide?

(A) Ala-Ala-Phelys-Lys
(B) Ala-Phe-Lys-Ala-Lys
(C) Ala-Phe-Lys-Lys-Ala
(D) Ala-Phe-Ala-Lys-Lys

An oligomeric proteindissociateso its componensubunitswhenexposed to temperature
below 0°C, whereashighsalt concentraliorhas little effect onits dissociation.The
quatemnary structure Of the protein is likely to bestabilized by

(A) vander Waalsinteraction
(B) Eleclrostatic interaction
(C) Hydrophobicinteraction
(D) Covalenl bonds

Signal recognition particle consist®f:

(A) Asingletarge RNA

(B) A multi-protein complex

(C) A complexof asingleRNA and multiple proteins
(D) A complex of multiple RNAs andmulliple proteins

In influenza virus infectedeells, 5' capdependentranslation of hostcell mRNAs is
severely impaired. Themechanism involves:

(A) Stealing of 5’ cap of the host cell mRNA by the virus

(B) Cleavage[ anessential initiation factor by viral proteases
(C) Degradation of hostcell mRNA by virusinducednucleases
(D) Competition with the viral mRNA for the initialing ribosome

Two-hybrid analysisis usedfor:

(A) Studying DNA-protein interactions

(B) Studying proteinproteininteractions

(C) Studyingregulatory proteins

(D) ldentificalionof complementary strands of nucleicacids
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61.

62.

63.

64.

65.

66.

When the nerve cells senda message for musclecellsto contract, acetylcholine attaches to
the receptor on the musclecell membraneand a channel is openedallowing the Na® ionsto
enter the c e | through:

(A) Diffusion

(B) Osmosis

(C) Active transport
(D) Facilitated diffusion

Mitochondria are involved in all of the following, except

(A) ATP-production

(B} Apoptosis

(C) Tricarboxylic acid cycle
(D) Fatty acid biosynthesis

Pluripotent cells are normally derived fom

(A) Foetal tissue

(B) Inner cell mass of blastocyst
(© Trophectodermof blastocyst
(D) Foetalgonadalridge

Forembryo cloning by nuclear transfer technology, one would require the following to
reconstitute an early cleavagestageembryo:

(A) Enucleatedsomaticcell and oocyte nucleus
(B) Enucleatedoocyteand enucleatedsomaticcell
(C) Enucleatedoocyteand somaticeelt nucleus
(D) Nucleatedoocyteand nucleatedsomaticcell

Which one of the following organisms doesnot havetelomeres?

(A) Dictyostelium discoideurn
(B) Tetrahymenathermophila
(©) Saccharomyces cerevisiae
(D) Haemophilus influenzae

End product repressiondiffers from fcedbackinhibition by regulating
(A) Enzymeactivity
(B) Enzymesynthesis

(C} Enzymestability
(D) Enzymefolding

14
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67.

68.

69.

70.

71

Whatis the[S] for the enzyme catalyzed reactionwhich has an initial velocity of 12.62
mole/liter/min, maximum velocity of 21.85 mole/liter/min, and a K, of 3.88mole/liter?

(A) 2.51 mole/liter
(B) 5.3 mole/liter

(C) 0.2 molefliter
(D) 4.31 mole/hiter

Thefollowing genotypesre foundin a populaiion: AA=70, Aa=50 and aa=20. What are
the allele frequencie®f A and a?

(A) A=0.68 anda=0.32
(B) A=Q.63 and a=0.36
(C©) A=0.36 and 2=0.63
(D) A=0.86 and a=0.14

A parental crossinvolving pure tall-round seeded andpuredwarf -wrinkle seedegea
plants produccdtall-round seeded plants. Upon interbreedinghe F, lall-round sccded
plants,a total of 400 F; parls  wereproduced.How many amongthem were dwarf-round
seededlants?

(A) 25
(B) 50
(© 75
@) 250

Theconceptcentral dogma of molecular geneticswasmaodified by

(A) Temin and Baltimore
(B) Benzer

(C) Crick

(D) Beadleand Tatum

Howmany moleculés of ATP are consumed and producedfor two molecules of glucosein
glycolysis?

(A) 2and 2
(B) 2and 4

© 2ands

(D) 4and8
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72.

A 3.2 kb singlecopyregion was ampli(ied by PCR from human genomic DNA. The
human gcnome size is 3.2x10° bp. Prior © PCR, what proportion of the DNA consists of
the 3.2 kb target sequence?

(A) 10°
®) 10"
€ 10°
(D) 107

73. Aprotein rich in which of the followi ng amino acidswould havea higher buffering

74.

75.

capacityat physiologicpH?

(A) Aspartic acid

B) Arginine

(C) Serine
(D) Histidine

To calcutate the membranepotential, which of the following equations is used?

(A) Einstein-Stokes
(B) Nemst

(C) Goldman

(D) Hodgkin-Huxley

The residuesthat coordinate to the Zn** in Zinc finger proteins are

(A) Asp and Glu
(B) Cys and Met
(© CysandHis
(D) Hisand Ser

76. If the residues are arranged in the descendingorder of hydrophobicity, which onethe

7.

following sequencess correct?

(A) Asp,Ala, Ser, Val, lle
(B) lle, Val, Ala, Scr,Asp
© Asp,lle, Ser,Val, Ala
(D) Vval, Ala, Ile, Asp, Ser

There are two concentric circles.The radius of the outer oncis twice the radius of the
inner circle.What is theratio of the areabetween thecircles to that o the inner circle?

A) 1:1
(B) 2:1
(© 13
O 31
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78.

79.

80.

81.

82.

Cellulose is a polymer of

(A) -Glu-al, 3 Glu-
(B) -Glu-81, 4 Glu-
(C) -Glu-al, 4 Gal-
(D) -Glu-Bl, 3 Gal-

Consider the benzene ring in which the C-C bondlength is 1.4A. What is ihe distance
in A between diagonally oppositecarbon atoms?

(A) 28
(B) 14
©) 07
(D) 42

Which one of the following molecules is a precursor for synthesis of vitamin C in the liver
and thekidney of mostmammals excepthigher primates?

(A) Glucose
(B) Phenylalanine
(C) Squalene
(D) Linolenic acid

The lysosomalsorting signal is

(A) N-acetyl-glucosamine
{(B) Ran:GTP

(© mannose-6-phosphate
(D) ribose-6-phosphate

Theaverage density of a solubleprotein is 1.33g/cm®. Calculate the specific volume of a
solubleprotein, given that the averagemolecular weight of an amino acid residue is 120
Daitons.

(A) 0.50 mL/g
(B) 0.75 mL/g
© 0.33mL/g
(D) 1.00mL/g

|l
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83. A guinea pig wasgiven a singleinjection of 2*NaCl. Periodically, blood samples were
withdrawn and analyzedimmediately for radioactivily. Thedata are shownbelow.
Calculate ihe biological half-life of *'Na in the blood stream

Time of injedion (hr) Specificactivity (CPM/mil)

1 3604
2 2908
5 2376
10 1412
16 756
24 329

(A) 3hr

(B) 6hr

© 9hr

O) 12hr

84. Which of the following features of transposons is responsible for geneticpolarity?

(A) The presenceof a translation stopsignal in ihe transposon
(B) The inversionof basesequencen iransposon

(C) The presenceof a transcnption stopsignal in the transposon
(D) The deletion of basesequence in transposon

85. ThepKa valuesfor adenine(N-1) and guanine(N-7) are 4.2 and 3.2 respectively.
At pH 7, the percentageof protonated forms of these groups are:

A) 0.2 %o0of adenineand 0.02 % of guanine
) 100 % of adenine and 0 % of guanine

© 0% ofadenineand 100% of guanine
(D) 0.02 % of adenineand 0.2 % of guanine

86. Which of the following amino acids would you expect to find inside of a typical globular
protein at pH 7?

(A) Arg, Lys,Thr, Phe
(B) Ser, Glu, Asn, Lys
(C) Val, lic, Phe,Mer

(D) Ser,Met, Asp, Thr
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87.

88.

&9.

90.

Which one of the following reagents should be usedto selectively inhibit RNA polymerase
I mediated transcription in mammalian cells?

(A) Alpha-amanitin
(B) Colchicine
(C) Puromycin
(D) Fucomycin

Electrophoresis Of a purified protein called X in the presenceof sodiumdodecyl sulfate

and beta-mercaptoethanol shows a singlebandof 60kDa. h agclfiltraiion experiment,
protein X elutes between alcoholdehydrogenas¢l60 kDa) and flamylase (190 kDa). How
many identicalsubunits protein X iscomposedf?

{(A) One
(B) Two
(C) Five
(D) Three

When bacteria develop resistance to an antibiolic, thc explanation on the basis of natural
selectionis that

(A) Resistant bacteria preexistedwhich wereselectecby thepresenceof the antibiotic
(B) Exposurcto the antibiotic induced the resisiance
(C) The antibiotic is mutagenic

(D) Resistancds a natural and non-geneticproccss

Removalof gencactivily A from a linear pathway results in higher than normal levels of
transcripts from geneB. A reasonable hypothesis would bethat

(A) GeneB mustact upstream of gene A

{(B) GeneA hasno relationto transcripts of GcneB

(C) GeneB acts downstream of geneA and is regulated by A directly or indirectly
(D) The increase in transcript B abundancés an experimental error

91. The following plant hormone is synthesized from an amino acid precursor

(A) Ethylene
(B) Abscisic acid
{C) Cytokinin
(D) Auxin

17
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92.

93.

94.

95.

96.

97.

Which enzyme is thetarget of drugs usedto treat disease caused by influenza virus?

(A) Collagenase
(B) Hyaluronidase
(C) Neuraminidase
(D) Proteinase

Which enzymecomplexis responsiblefor majority of the ATP-dependent degradation of
cytosolic proteins?

(A) 268 proteasomes
(B) Cathepsins

(C) 20S proteasomes
(D) Calpains

Which family of transcription factors is directly activated by Interferons?

(A) NF-kappa B

(B) NFAT

(C) AP-I
(D) STAT

von Willebrand diseasas due to deficiencyof a factor involved in

(A) T cell activation

(B) Platelet adhesion

(C) NK cellkilling

(D) Differentiation Of B cells

What is the principal characteristic of all oxidizing agents?

(&) Electron donor

(B) Removesharge from electrons
(C) Electron receptor

(D) Burnselecirons

A Cr0ss between two true breeding lines one with dark blue flowers and onewith bright
white flowers produces F1 offspring that are light blue. When the F1 progeny are selfed, a
1:2:1 ratio of dark blueto light blueto white flowers is observed. What genetic
phenomenons consistentwith these results?

(A) Epistasis

(B) Incomplete dominance

(C) Codominance
(D) Inbreeding depression
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98. Which of the following compounds would have the highest boiling point?

(A) CH,CH,CH>CHs
(B CH3NH;

(C) CH,OH

(D) CH:F;

99. Which of the following moleculeswas most likely to havebeen synthesized in the smooth
endoplasmic reticulum?

(A) Protein

(B) Phospholipid
(C) Glucose

(D) Starch

100. Whichof the following isrelatedto affinity maturaiion?
(A) Classswitch recombination
(B) Homologousecombination

(C) V(D) recombination
(D) Somatichypermutation
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